Coordinates of points on the Unit Circle
can be used to find the Exact Value of
Sin, Cos, and Tan of angles on the Unit Circle.

Find the Exact value of each.
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You will have a quiz just over filling out the Unit Circle!
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., 1) : Find the Exact value of each.
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Find the Exact value of each.
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Cos of any angle on the unit circle is just the x-coordinate
of the point associated with that angle.

Definitions of Sin,Cos, and Tan using the Unit Circle:
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Sin of any angle on the unit circle is just the y-coordinate
of the point associated with that angle.
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Tan of any angle on the unit circle is just the ratio of the
y-coordinate to the x-coordinate of the point associated
with that angle.

Use the Unit Circle to

find the EXACT value
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Coordinates on the Unit Circle:
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Use the Unit Circle to
find the EXACT value
of each.
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Use the Unit Circle to )
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